
MATHS

BOOKS - CHETAN MATHS (TAMIL ENGLISH)

PYTHAGORAS THEOREM

Practice Set 2 1

1. In the adjoining figure,  hypotenuse QR, Q -

M - R. If PM = 10, QM = 8 then find QR.

Watch Video Solution

∠QPR = 90∘ , segPM ⊥

2. Find the side and perimeter of a square whose diagonal is 10 cm.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_BOQB7OspJItF
https://dl.doubtnut.com/l/_2q37nSkXwyh3
https://dl.doubtnut.com/l/_5C2LuANcMruO


3. Length and breadth of a rectangle are 35 cm and 12 cm respectively.

Find length of its diagonal. 

Watch Video Solution

4. In the adjoining figure,

 then find (i) EG (ii) FD

(iii) EF. 

Watch Video Solution

∠DFE = 90∘ , FG ⊥ ED if GD = 8, FG = 12

5. Walls of two buildings on either side of a street are parallel to each

othar. A ladder 5.8 m long is placed on the street such that its top just

reaches the window of a building at the height if 4 m. On turning the

ladder over to the other side of the street, its top touches the window of

https://dl.doubtnut.com/l/_5C2LuANcMruO
https://dl.doubtnut.com/l/_cEwqmg1JcPQI
https://dl.doubtnut.com/l/_6sx6xao1EFgX


the other building at a heitht 4.2 m. Find the width of the street. 

Watch Video Solution

6. In adjoining figure, find RP and PS using the information given in

 find RP and PS. 

Watch Video Solution

ΔPSR

7. In the adjoining figure, M is the midpoint of  prove

that  


Watch Video Solution

QR. ∠PRQ = 90∘

PQ2 = 4PM 2 − 3PR2

https://dl.doubtnut.com/l/_6sx6xao1EFgX
https://dl.doubtnut.com/l/_WBMKFQ9y6Kwj
https://dl.doubtnut.com/l/_CgxA9zWsdrGC


8. Which of the following are pythagorean triplets justify. 

3, 5, 4

Watch Video Solution

9. Which of the following are pythagorean triplets justify. 

4,9,12

Watch Video Solution

10. Which of the following are pythagorean triplets justify. 

5,12,13

Watch Video Solution

11. Which of the following are pythagorean triplets justify. 

10,24,27

https://dl.doubtnut.com/l/_gtTdOJkHsPNe
https://dl.doubtnut.com/l/_d5wB2E3LBDgQ
https://dl.doubtnut.com/l/_FSapS7J58sA2
https://dl.doubtnut.com/l/_ALTsEX6fhGer


Pratice Set 2 1

Watch Video Solution

12. Which of the following are pythagorean triplets justify. 

24,70,74

Watch Video Solution

13. Which of the following are pythagorean triplets justify. 

11,60,61

Watch Video Solution

1. For finding AB and BC with the help of information in adjoining figure,

complete the following activity,AB=BC............
∴∠BAC=...........
∴AB=BC=........×AC

=........× 8
​
=........×2× 2
​
=....... 

` (##CTN_MK_MAT_X_P2_GEO_CO2_SLV_015_Q5.png" width="80%">

https://dl.doubtnut.com/l/_ALTsEX6fhGer
https://dl.doubtnut.com/l/_UXkSop8n8YP6
https://dl.doubtnut.com/l/_MFKdDDhN9Cxx
https://dl.doubtnut.com/l/_ayBwYRXAZskM


Practice Set 2 2

Watch Video Solution

1. In  


(i) 

Watch Video Solution

ΔPQRsegPSis median ofΔPQR. AndPT ⊥ QR,

PR2 = PS2 + QR × ST + ( )
2

QR

2

2. In , 


Watch Video Solution

ΔPQRsegPSis median ofΔPQR. AndPT ⊥ QR

(ii)PQ2 = PS2 − QR × ST + ( )
2

QR

2

3. In adjoining figure, point T is in the interior of rectangle PQRS. Prove

that,  
TS2 + TQ2 = TP 2 + TR2

https://dl.doubtnut.com/l/_ayBwYRXAZskM
https://dl.doubtnut.com/l/_n2yfqb4dtffx
https://dl.doubtnut.com/l/_K2B1oqsa4q64
https://dl.doubtnut.com/l/_5c8hbq8thcAD


Pratice Set 2 2

Practive Set 2 2

Watch Video Solution

1. In  Point S is the midpoint of side QR. If PQ = 11, PR = 17, PS = 13

then find QR. 

Watch Video Solution

ΔPQR,

2. In  ,point M is midpoint of side BC. 

 and AM = 8 cm, find BC. 


Watch Video Solution

ΔABC

IfAB2 + AC 2 = 290cm2 = 290cm ∘

https://dl.doubtnut.com/l/_5c8hbq8thcAD
https://dl.doubtnut.com/l/_bmwzX6hUnRNd
https://dl.doubtnut.com/l/_GmtPmT5lXJze
https://dl.doubtnut.com/l/_5Fh1phRze9vH


Problem Set 2

1. In  find the length of the median

drawn from C to side . AB. Given 

(i) In  


Watch Video Solution

ΔABC, AB = 10, AC = 7, BC = 9

ΔABC, seg CMis a median(ii)AB = 10, AC = 7BC = 9

1. Find the height of an equilateral triangle having side 2a. 

 is an equilateral triangle. 


AB = 2a

Watch Video Solution

(i)ΔABC

2. Do sides 7cm, 24 cm, 25 cm from a right angled triangle ? Give reason.

Watch Video Solution

https://dl.doubtnut.com/l/_5Fh1phRze9vH
https://dl.doubtnut.com/l/_iwk2vcDMlNcd
https://dl.doubtnut.com/l/_p92XHXNuGbfK


3. Find the length a diagonal of a rectangle having side 11 cm and 60 cm.

Watch Video Solution

4. Find the length of the hypotenuse of a right angled triangle if

remaining sides are 9 cm and 12 cm.

Watch Video Solution

5. A side of and isoceles right angled triangle is x. Find its hypotenuse..

Watch Video Solution

6. In  Is  a right angle ?

If yes which angle is of ?

Watch Video Solution

ΔPQR, PQ = √8, QR = √5, PR = √3 ΔPQR

90∘

https://dl.doubtnut.com/l/_rKfqSGAqE3dx
https://dl.doubtnut.com/l/_rKkPLWcoX17Q
https://dl.doubtnut.com/l/_VedfZT4lA3Ub
https://dl.doubtnut.com/l/_nWyXGJz9LJYl
https://dl.doubtnut.com/l/_pw5zDLoFrOBv


7. In  RT = 12 cm. Find RS and ST.

Watch Video Solution

ΔRST , ∠S = 90∘ , ∠T = 30∘ ,

8. Find the diagonal of a rectangle whose length is 16 cm and area is 192

sq. cm. 

 is a rectangle (ii) AB = 16 cm (iii)  


Watch Video Solution

□ ABCD A( □ ABC) = 192sq. cm

9. Find the length of the side and perimeter of an equilateral triangle

whose height is . 

. 


(ii)  


(iii) 

Watch Video Solution

√3cm

(i)ΔABCisan  equilateral triangle

segAM ⊥ sideBC, B − M − C

AM = √3cm

https://dl.doubtnut.com/l/_pw5zDLoFrOBv
https://dl.doubtnut.com/l/_JM71H8DjYzQI
https://dl.doubtnut.com/l/_OFnxpN5Riviv


10. In

.

Watch Video Solution

ΔABC, segAP is a median. IfBC = 18, AB2 + AC 2 = 260findAP

11.  is an equilateral triangle. Point P is on base BC such that 

, if AB = 6 cm, find AP. 


 is an equilateral 


(ii) AB = 6 cm 

Watch Video Solution

ΔABC

PC = BC
1

3

ΔABC

PC = BC
1

3

12. from the information given tn the figure, Prove that : PM = PN =

Watch Video Solution

√3 × a

https://dl.doubtnut.com/l/_DdaNOInj0FTS
https://dl.doubtnut.com/l/_BdNLcd9PAEYx
https://dl.doubtnut.com/l/_MntmwYYkVQUA
https://dl.doubtnut.com/l/_Uwc8wIJcf3ez


13. Prove that the sum of the squares of the squares of tha diagonals of a

parallelogram is equal to tha sum of the squares of its sides.

Watch Video Solution

14. Pranali and Prased started walking to the East and to the North

respectively, from the same point and at the same speed. After 2 hours

distance between them was km. Find their speed per hour.

Watch Video Solution

15√2

15. In  seg BL and seg CM are medians of 

prove that  


Watch Video Solution

ΔABC, ∠BAC = 90∘ , ΔABC

4(BL2 + CM 2) = 5BC 2

https://dl.doubtnut.com/l/_Uwc8wIJcf3ez
https://dl.doubtnut.com/l/_36eRU7VkoZIB
https://dl.doubtnut.com/l/_JzSMNBrAnEqW


16. Sum of squares of adjacent sides of a paralleogram is  and

length of one of its diagonal is 14 cm. Find length of the other diagonal. 

(i)  is a parallelogram 


(ii)  


(iii) AC = 14 cm

Watch Video Solution

130cm2

□ ABCD

AB2 + BC 2 = 130cm2

17. In . Prove that: 

 


Watch Video Solution

ΔABC, segAD ⊥ segBC, DB = 3CD

2AB2 = 2AC 2 + BC 2

18. In an isosceles triangle, length of each congruent side is 13 cm and

length of the base is 10 cm. Find the distance between vertex opposite to

base and centroid.

Watch Video Solution

https://dl.doubtnut.com/l/_7B9Eph3OWepJ
https://dl.doubtnut.com/l/_inOtPbHLRXwU
https://dl.doubtnut.com/l/_xswWeU6yzb6g


Watch Video Solution

19. In trapezium ABCD, seg AB ||seg DC. Seg  seg AD, seg 

seg BC. If AD = 15, BC = 15 and AB = 25, then find  


Watch Video Solution

BD ⊥ AC ⊥

A( □ ABCD)

20. in the adjoining figure,  is an equilateral triangle. Point S is on

seg QR such that , Prove that  


Watch Video Solution

ΔPQR

QS = QR
1

3
9PS2 = 7PQ2

21. Seg Pm is a median of `Delta PQR. If PQ = 40, PR = 42 and PM = 29, find

QR.

Watch Video Solution

https://dl.doubtnut.com/l/_xswWeU6yzb6g
https://dl.doubtnut.com/l/_4mwc7I2sdEod
https://dl.doubtnut.com/l/_DRNJKYH27c7P
https://dl.doubtnut.com/l/_K90w5s2z7OFE
https://dl.doubtnut.com/l/_LM2l7TjGhOFe


Problem Set 2 Mcq

22. Seg AM is a median of , if AB = 22, AC = 34, BC = 24, find AM.

Watch Video Solution

ΔABC

1. Out of the following which is the pythagorean triplet?

A. (1,5,10)

B. (3,4,5)

C. (2,2,2)

D. (5,5,2)

Answer: C::D

Watch Video Solution

https://dl.doubtnut.com/l/_LM2l7TjGhOFe
https://dl.doubtnut.com/l/_QXCalkZ4CVZb


2. In a right angled triangle, if sum of the squares of the sides making

right angle is 169 then what is the length of the hypotenuse?

A. 15

B. 13

C. 5

D. 12

Answer: A::C

Watch Video Solution

3. Out of the dates given below which date constitutes a pythagorean

triplet?

A. 

B. 

C. 

15/08/17

16/08/16

03/05/17

https://dl.doubtnut.com/l/_Xc6cyrnBbiQk
https://dl.doubtnut.com/l/_m8PE4fHBgKDh


D. 

Answer: A

Watch Video Solution

04/09/15

4. If a,b,c are sides of a triangle and , name the type of

triangle.

A. Obtuse angled triangle

B. Acute angled triangle

C. Right angled triangle

D. Equilateral triangle

Answer: A::D

Watch Video Solution

a2 + b2 = c2

https://dl.doubtnut.com/l/_m8PE4fHBgKDh
https://dl.doubtnut.com/l/_Wqm9ARjSe5vH


5. Find perimeter of a square if its diagonal is .

A. 10 cm

B. 

C. 20 cm

D. 40 cm

Answer: C::D

Watch Video Solution

10√2cm

40√2

6. Altitude on the hypotenuse of a right angle triangle divides it in two

parts of lengths 4 cm and 9 cm. Find the length of the altitude.

A. 9 cm

B. 4 cm

C. 6 cm

D. 18 cm

https://dl.doubtnut.com/l/_YZZGS4H3Mxlm
https://dl.doubtnut.com/l/_6UqnLCjER6ti


Answer: C

Watch Video Solution

7. Height and base of a right angled triangle are 24 cm and 18 cm, find the

length of its hypotenus.

A. 24 cm

B. 30 cm

C. 15 cm

D. 18 cm

Answer: C

Watch Video Solution

8. In

ΔABCAB = 6√3cm, AC = 12cm, BC = 6cm. Find measure of∠A

https://dl.doubtnut.com/l/_6UqnLCjER6ti
https://dl.doubtnut.com/l/_UZpGM2679lus
https://dl.doubtnut.com/l/_LOC8Ho2MIJfY


Additional Mcq S

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

30∘

60∘

90∘

45∘

1. In  m then RS=

A. 

B. 

C. 

D. 5 m

ΔRST , ∠s = 90∘ , RT = 12m, ST = 8

10√8m

5√4m

4√5m

https://dl.doubtnut.com/l/_LOC8Ho2MIJfY
https://dl.doubtnut.com/l/_qWemOCkY8JLi


Answer: D

Watch Video Solution

2. In

A. 12

B. 25

C. 7

D. 

Answer: A::B

Watch Video Solution

ΔPQR, ∠PQR = 90∘ , segQM ⊥ hypPR, PM = 16 and RM = 9thenQM

16 × 9

3. In  then AC =….ΔABC, ∠B = 90∘ , ∠C = 30∘ , AB = 6cm

https://dl.doubtnut.com/l/_qWemOCkY8JLi
https://dl.doubtnut.com/l/_yi8hJqYTAkWN
https://dl.doubtnut.com/l/_1PeOW6zobiLd


A. 

B. 

C. 

D. 12 cm

Answer: A::B::C

Watch Video Solution

3√3cm

4√3cm

12√3cm

4. In 

A. 

B. 

C. 

D. Data not sufficient

Answer: D

Watch Video Solution

ΔPQR, ∠Q = 90∘ , PQ = QR = 5√2PR = 10then∠P…….

30∘

45∘

60∘

https://dl.doubtnut.com/l/_1PeOW6zobiLd
https://dl.doubtnut.com/l/_CaAhTuIcUfSy


5. Which of the following is a pythagorean triplet?

A. 60,61,11

B. 40,41,42

C. 11,12,15

D. 9,15,17

Answer: A

Watch Video Solution

6. In 

A. 3

B. 4

C. 5

ΔQSR, m∠Q = 45∘ , m∠S = 90∘ and SR = 4findQS

https://dl.doubtnut.com/l/_CaAhTuIcUfSy
https://dl.doubtnut.com/l/_81XKAp19sLRv
https://dl.doubtnut.com/l/_RbFNWG86xytx


D. 6

Answer: B

Watch Video Solution

7. Appollonius theorem is a theorem relating the length of …………. Of a

triangle.

A. Altitude

B. Angle bisector

C. Perpendicular bisector

D. Median and sides

Answer: A::D

Watch Video Solution

https://dl.doubtnut.com/l/_RbFNWG86xytx
https://dl.doubtnut.com/l/_3kingc6dTuvq


8. In the adjoining figure,  then find AQ…… 

A. 3

B. 6

C. 12

D. 36

Answer:

Watch Video Solution

AB2 + AC 2 = 122, BC = 10,

9. In  then

A. 

B. 

C. 

D. 

ΔPQR, m∠PQR = 90∘ , segQS ⊥ hypPR

QS2 = PS × RS

PS2 = QS × PR

PR2 = QS × PS

PR2 = QS2 × PS2

https://dl.doubtnut.com/l/_GrpxsJrIpFL4
https://dl.doubtnut.com/l/_WYx8bWxHg9PD


Problems For Practice

Answer: B

Watch Video Solution

10. In which of the following quadrilateral sum of squares of all sides is

equal to the sum of squares of diagonals?

A. Parallelogram

B. Rhombus

C. Square

D. (A), (B) and (c )

Answer: A::B::C::D

Watch Video Solution

https://dl.doubtnut.com/l/_WYx8bWxHg9PD
https://dl.doubtnut.com/l/_UCg0lapN4UAN


1. In

.

Watch Video Solution

ΔXYZ, ∠y = 90∘ , ∠Z = a ∘ , ∠x = (a + 30∘ ). IfXZ = 24findXY andY Z

2. In the adjoining figure,

Watch Video Solution

∠L = ∠MNK = 90∘ , ∠MKL = 30∘ and ∠MNK = 45∘ . IfKL = 6√3,

3. Sides of triangles are given below. Determine which of the them are

right angled triangle. 

(i) 8, 15, 17 (ii) 20,30,40 

(iii) 11,12,15 (iv) 20 ,16 ,12

Watch Video Solution

https://dl.doubtnut.com/l/_CtpBH3UVZlyI
https://dl.doubtnut.com/l/_Psef6haYKo7d
https://dl.doubtnut.com/l/_M1VyGiZ1PTsk


4. A ladder 10 m long reaches a window 8 m above the ground. Find the

distance of the foot of the ladder from the base of the wall.

Watch Video Solution

5. E is a point on hypotenuse dF of  such that seg 

 prove that, 


(i)  


(ii)  


Watch Video Solution

ΔDFH,

HE ⊥ segDF , segEG ⊥ segFH and segEK ⊥ segDH

EG2 = FG × EK

EK2 = DK × EG

6. In adjoining figure, seg AD bot side BC, B-D-C. Prove that

 

Watch Video Solution

AB2 + CD2 = BD2 + AC 2

https://dl.doubtnut.com/l/_5YDQfED7H2rv
https://dl.doubtnut.com/l/_xEo2KzglIr5k
https://dl.doubtnut.com/l/_1XxjGSpF2QxC


7. In the adjoining figure,

 Find x,y and z. 


Watch Video Solution

∠PQR = 90∘ segQS ⊥ sidePR, PS = 4, PQ = 6.

8. 

Watch Video Solution

ΔDEFisanequilateral triangle. SegDP ⊥ sideEF . E − P − F . Prove tha

9. 

Watch Video Solution

ΔPQRisanequilateral triangle, segPM ⊥ sideQR, Q − M − RProve that

https://dl.doubtnut.com/l/_kYlHfnGEczKD
https://dl.doubtnut.com/l/_BNCHOJV7WvJf
https://dl.doubtnut.com/l/_2TWOreFOMvSz
https://dl.doubtnut.com/l/_tFnZOOw3N2yM


10. In the adjoining figure, seg

Watch Video Solution

BD ⊥ sideAC, C − D − A. Prove that :AB2 = BC 2 + AC 2 − BC. AC

11. In

.

Watch Video Solution

ΔPQR, Misthe midpoint ofsideQR. IfPQ = 11, PR = 17andQR = 12th

12. In .

Watch Video Solution

ΔABC, APisamedian. IfAP = 7, AB2 + AC 2 = 260findBC

13. In  Find the length of the

median on side BC.

ΔABC, AB2 + AC 2 = 122 and BC = 10

https://dl.doubtnut.com/l/_tFnZOOw3N2yM
https://dl.doubtnut.com/l/_bszmfBkf0r78
https://dl.doubtnut.com/l/_yMpeWNJEml5l
https://dl.doubtnut.com/l/_NYwmFNW68qE6


Watch Video Solution

14. Adjacent sides of a parallelogram are 11 cm and 17 cm. If the length of

one of its diagonals is 26 cm, find the length of the other.

Watch Video Solution

15. If 'O' is any point in the interior of rectangle ABCD, then prove that :

Watch Video Solution

OB2 + OD2 = OA2 + OC 2

16. In the adjoining figure ,  is an equilateral triangle. QR = RN .

Prove that  


Watch Video Solution

ΔPQR

PN 2 = 3PR2

https://dl.doubtnut.com/l/_NYwmFNW68qE6
https://dl.doubtnut.com/l/_rKY1FDueJj8z
https://dl.doubtnut.com/l/_Ubb4nBEs9vvl
https://dl.doubtnut.com/l/_425EysLpXUGj
https://dl.doubtnut.com/l/_HmYDgPFWNAvz


Assignment 2

17. In the adjoining figure,  is the midpoint of side QR.

Prove that  


Watch Video Solution

∠PQR = 90∘T

PR2 = 4PT 2 − 3PQ2

1. Solve the following sub questions: 

Is 28,21 and 35 a pythagorean triplet?

Watch Video Solution

2. Solve the following sub questions: 

in  PQR, angle PQR = 90^(@) "seg" QS bot "hypotenuse" PR, PS = 16 , RS =

9 "find" QS 

Watch Video Solution

Δ

https://dl.doubtnut.com/l/_HmYDgPFWNAvz
https://dl.doubtnut.com/l/_N728D08v8HgS
https://dl.doubtnut.com/l/_7Wm3ExOus6qk


3. Solve any one of the followng questions : 

In . 


Watch Video Solution

ΔADC, ∠ADC = 90∘ ∠C = 45∘ , AC = 8√2cm. FindAD

4. 

In 

Watch Video Solution

ΔXYZ, ∠y = 90∘ , ∠Z = a ∘ , ∠X = (a + 30) ∘ find∠x

5. Solve the any one of following sub questions: 

In 

Watch Video Solution

ΔPQR, segPMis a medianPM = 10 and PQ2 + PR2 = 328then findQR

https://dl.doubtnut.com/l/_7Wm3ExOus6qk
https://dl.doubtnut.com/l/_axU0889PqQaI
https://dl.doubtnut.com/l/_d4wMoY7XH4XP
https://dl.doubtnut.com/l/_f4LV0RHCYLFR


6. Solve the any one of following sub questions: 

If m and n are two distinct numbers then prove that

 is a pythagorean triplet.

Watch Video Solution

m2 − n2, 2mn and m2 + n2

7. Solve the following sub question : 

in the adjoining figure, seg

 then complete

the following activity to prove that (a + b) (a - b) = (c + d) (c - d) 

Proof : In  


 


 


In  


 


 


 


PSbatsideQR. IfPQ = a, PR = bQS = c and Rs = d

ΔPSQ∠PSQ = 90∘

□
2 = PS2 + □

2

PS2 = □
2 − □

2

ΔPSR, ∠PSR = 90∘

□
2 = PS2 + □

2

PS2 = □
2 − □

2 = □
2 − □

2

a2 − c2 = b2 − d2

https://dl.doubtnut.com/l/_f4LV0RHCYLFR
https://dl.doubtnut.com/l/_uFsBCcK7kpkU
https://dl.doubtnut.com/l/_hvst4LcxKxRg


Assignment 3

 


Watch Video Solution

a2 − b2 = C 2 − d2

□ × □ = □ × □

8. Solve the following sub question 

in 

Watch Video Solution

ΔABD, ∠BAD = 90∘ segAC ⊥ hypoBD, B − C − DshowtîAB2 = BC :

1. Solve the following sub questions : 

State and prove 'Pythagoras theorem'

Watch Video Solution

https://dl.doubtnut.com/l/_hvst4LcxKxRg
https://dl.doubtnut.com/l/_BVDNHZPaAqKS
https://dl.doubtnut.com/l/_bJq3eXF7dLuO


Assignment 4

Assignment 5

1. Solve the following sub questions: 

In 

Watch Video Solution

DelatACB, ∠ACB = 90∘ segCD ⊥ sideAB, A − D − BsegDE ⊥ sideCB

1. Solve the following sub question : 

In an equilateral triangle ABC, the side BC is trisected at D. prove that

Watch Video Solution

9AD2 = 7AB2

https://dl.doubtnut.com/l/_BJMOZ7mZHOgJ
https://dl.doubtnut.com/l/_LcAznpxZIlf5

